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II Semester 3 Years LLB. Examination, December 2019 
LABOUR LAW - I 

(2018 and 2019 Batch) 

Duration : 3 Hours Max. Marks: 80 

• 

Instructions : 1 . Answer all five Units. 
2. One essay type and one short note/problem is 

compulsory from each Unit. 
3. Figures to the right indicate marks. 
4. Answers should be written either in English or Kannada 

completely . 

UNIT- I 

Q. No. 1. a) Explain the procedure to be followed to register a Trade 

• 

Union under the Trade Unions Act, 1926. • Marks : 1 0 

OR 

a) Explain the general and political funds and their collection 
under the Trade Unions Act, 1926. Marks : 1 0 

Q. No. 1. a) Ot!~r~ ;,;ioapi~~~ ~ol:k)~ aj5oi:,ojJ~ Ot!~r~ 

;,;ioa;:Yrl9 ~~~. 1926 d~ ~~M::fo~ ;:,~of.). Marks : 1 0 

OR 

a) OtJ~r~ ;,;ieajYrl9 ~ON~, 1926d~ !~M:fo~ M)~1 a5c)M 
O't)~6ecm N0rl9 ~1 Wt)~ ~~rl9~ ~U)tfc)~;cyJ~ ~1 
~e,1,i. Marks : 1 O 

Q. No. 1. b) Change of name and amalgamation of Trade Union. Marks: 06 

OR 

. b) Cancellation of certificate of registration of a Trade Union. Marks: 06 

Q. No. 1. b) OtJ~r~ :i:roapid ar,rsm ~da)~A ~ ~dt:t, ~~ ~~ 
~ . t:l 

Ot!~r~ :i:roapirl9 ~oc::b Mi~i. Marks : 06 

OR 

b) &~r~ :i:roajYd ~ol:k)~ri$ ~~~ dc::bM~c::b. Marks: 06 
-~ <>lo Q 

P.T.O. 
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UNIT-II 

Q. No. 2. a) Explain the provisions relating to reference of an Industrial 
dispute. Marks : 1 O 

OR 

a) Define "industrial dispute". When does an individual dispute 
become an industrial dispute ? Explain with the help of 
decided cases. Marks : 10 

Q. No. 2. a) ~odJ !s~.rc:,/1\~ c:r~~d'qj~J Ndre~7:iJ~d'8 7:io-woc,1~~ 
~'WoQr/~ ~o~ "' 0 

tJ Marks : 1 O 
~ . 

OR 

a) "!s~el\~ ~d"~~ a:rc)
6
~

6
N~. t.iodJ ~cm6~ ~a:rc)O o:m,o:s 

~odefrri~ !s~el\~~~~o? N~r~ aj~£airi~.rc:,oort 
~o.t.i. M ..,, Marks : 1 O 

Q. No. 2. b) Works Committee. 
Marks : 06 

OR 

b) Award. Marks: 06 

a. No. 2. b) 0t>cmr0t>O ~!3e:. Marks : 06 

OR 

b) ~.!ezj}F. Marks: 06 

UNIT- Ill 

Q. No. 3. a) Define strike. What are the various kinds of strikes mentioned 
in the Industrial Disputes Act, 1947 ? Marks : 10 

OR 

a) Define "retrenchment". Explain with decided cases the 
provisions of Chapter V A with reference to retrenchment. Marks : 1 O 

a. No. 3. a) ~~~~ ~~rck~~0N.tJ, !s~el\~ a:)~dr/.J e,QN~, 1947d~ 
eroe3J£>.tJd ~Q oe!® ~~dr/~ am~~ ? Marks : 1 o 

OR 

a) "~ec:.rc,~?.$"~ c:.rc,
0
~t1N.!J, NQr0$ aj~£alr/l?J.rc:,oOrt Chapter 

V A d!J~ ~ec:.rc,~?.$ ero~-woQ'rltJ~ a:)~O~. Marks : 10 
M <( 

• 
~ 

• 
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Q. No. 3. b) Mohan and Co. Ltd. directed its workmen not to report for 

work for 15 days due to water scarcity in the industry. The 
workmen claimed lay off compensation. Mohan and Co. Ltd. 
refused to pay. Decide. Marks: 06 

OR 

b) The certifying officer certified and sent to the employer the 
standing orders for his industry without sending a copy to 
the concerned Trade Union. The Trade Union challenges the 
standing orders as invalid because they were not consulted. 
Decide. Marks : 06 

Q. No. 3. b) 

• ~~~ ~ ~o. CJ. -;.mt;~'dtb ~d 0cl~F~~ N~O~ 

e,~~ ~drn 1 s ~v Oc)~ Oc)cJ,)F"~on ~~~ . iidd~ 
NOF~~ N~~- ~F'dtb ~~~ ;r3~o3c)c:f?z0cl" ~ ~Oas;>d 
~~deb. ~~~ ~ ~o. ~- ~Oas;>d N~riJ N~~O)..,OOJ. 
NQF~. jj Marks : 06 

OR 

UNIT-IV 

Q. No. 4. a) Explain the circumstances under which an employer is liable 
to pay compensation under the Employees Compensation 

Act, 1923. Marks : 10 

• OR 

a) Discuss the composition, powers and duties of the ESI 
Corporation under the Employees State Insurance 
Corporation Act, 1948. Marks : 1 O 

Q. No. 4. a) ~e.J ~~t:$~ omc:s ~od~Fri~c, eJUO!c).,erv'(~ ~~ ~003c)d 
tJ M ti &J 

~~ 1923d~ ~ o!JOw;)d W«Jrie;J ~~Ml~~odJ 

~~- Marks : 1 O 

OR 

a) 1948d erodrcl/1'rl'~ Od~6 ~ 0cl~FO~~ ~~~d 
~~ ESI 0cl~FO~~~ N~r=i I ~Q0cldrifJJ a5cl7'Ucl 

M 

~F~rl~ ~z.!F,!..,. Marks : 10 
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Q. No. 4. b) 

-4-

Raja was working as an electrician in David and Co. Ltd. 
David and Co. Ltd. is a Subscriber to the ESI Corporation. 
Raja comes into contact with a live wire and dies. His 
widow Rani claims compensation under the Employees 
Compensation Act, 1923. David and Co. refuses to pay. 
What is the remedy available to Rani ? 

OR 

b) Benefits available under ESI Act, 1948. 

Q. No. 4. b) Oc)~ a:)O~ d~~ ~ ~O.CJ. oo a:)~.~ e:," eC);rS 

l 
1••···· 

Marks: 06 

Marks : 06 

J M .., 

~~~- t:!e~ ~ ~.e,. am erod.s~lt\rltJ ~~ ~ ~ ~roe~ ~f\omf\d. Ot>~rt ~o~ ~.ClXf ~ t., 
~~~c$. e:,tiS asoti! ~~ W~/7'1'N ~ ~~d 
~. 1923d c,~o:i:>eJ ~ ~d ~~9. d~~ M .:.J J ~ ~o. ~ ~d Mdcx, ~~d. Ot>~li ~~~M ~ ~ ~c:md ? Marks : 06 

OR 

b) ~etvt.i Oc>~ ~ ~ 1948~ '-i~ ~ 
~~~ 

UNIT-V 

Q. No. 5. a) Describe the various deductions which may be lawfully made 
by an employer under the Payment of Wages Act, 1936. 

OR 

a) Explain the provisions of the Factories Act, 1948 that deal 

Marks : 06 

Marks : 10 

with Annual Leave with Wages. Marks : 10 
Q . No.5. a) o-3~ ;r100c>o:i:l c,~, 19360CJ !<i.l.ido."3 ~t..) ~~ M tJ 

~~~F" amtitJ<E~d ~~ ~o.tJ. Marks : 10 
OR 

a) e«>~rci!m1 e:,~on:b, 1948d ~~d o.ie~oorl ~r~ 
dt!rni t..)~ ~~ ~t..)ot;!ri~ ~~- Marks : 1 o 

• 
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